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Algebra 2 Name g /(/ 0 7/- 65

Notes Parabolas (Opening up and down)
Use the information provided to write the vertex form equation of each parabola.

1) Vertex: (-8, -9), Focus: (-8, —10) 2) Vertex: (8, -1), Foous: ( o 3)
2 2 . b 4

3) Vertex: (—1, 4), Focus: (—1, 5) 4) Vertex: (8 7) Focus: (8 _Sl)
2 2 . 2 8

Identify the vertex, focus, axis of symmetry, and directrix of each. Then sketch the graph.

5) X2 +6x+3y+9=0 6) x> —4x+y+8=0
‘_J\y ‘JLy
T o ] v i
|_
IS I 11
| | i
[ E T N I T
HH | . Psins | H
RN IEEE 3 T8 8% ENENETENNE .
! |
| 111 1 :
N o !
| |
- ! | T
| - —d 1 4 R |
Y Y
7) —x*—8x+y-11=0 8) x> —2x+y+4=0
AY Ay
b ] r ™T T b i — |
! B . 11711 [
I. T 1] ]
| ) B 4 BN
b T, 1 o T
TR [ A i 6 | §7x R AENE e 147
H i - — S — | I_
| L | 100
:_|_ 4 T | N i
Ll u
1 - | i 0 I | i
COTTT T e s ]
¥ Y




Algebra 2 Name /l/(? % eS #mW S

Notes Parabolas (Opening up and down)
Use the information provided to write the vertex form equation of each parabola.

1) Vertex: (-8, -9), Focus: (-8, ~10) 2 Vertos: (8, 1), Focus (8 _ 2)
B s . H 4

y=—%(x+8)2—9
y=—(x—8)2—1

3) Vertex: (-1, 4), Focus: (-1, 5) 4) Vertex: (8, 7), Focus: (8 ﬂ)
. . o . s 8

y=l(x+1)2+4
4 y=2x—-8)7*+7

Identify the vertex, focus, axis of symmetry, and directrix of each. Then sketch the graph.
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Algebra 2 Name )_4 W

HW Parabolas (Opening up and down)
Use the information provided to write the vertex form equation of each parabola.

1) Vertex: (—8, 2), Focus: (-8, 1) 2) Vertex: (4, 4), Focus: (4 2)
2 H M 2 2

3) Vertex: (—4, 1), Focus: (—4, %) 4) Vertex: (—4, O), Focus: (—4, —i)

Identify the vertex, focus, axis of symmetry, and directrix of each. Then sketch the graph.
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HW Parabolas (Opening up and down)
Use the information provided to write the vertex form equation of each parabola.
= F =
L) Vertex g 8,2), Focus: (-8, 1) 2) Vertex: (4, 4), Focus: (4, 2)
y=—Z(x+8)2+2 { 2
y= —2—(x - 4)2 +4

3) Vertex: (—4, 1), Focus: (—4, %) 4) Vertex: (—4, 0), Focus: (—4, —%)

y=-2x+4)+1 y=—(x +4)

Identify the vertex, focus, axis of symmetry, and directrix of each. Then sketch the graph.
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